Advanced Integration 10.1C – Integration by Parts

Find each integral by integration by parts or a substitution. Choose wisely.

#1)
$$\int xe^{x^{2}}dx = \int xe^{\rho} \frac{d\rho}{dx}$$

$$= \frac{1}{2} \int e^{\rho}d\rho$$

$$= \frac{1}{2} e^{\rho}$$

#2)
$$\int \frac{(\ln x)^3}{x} dx = \int \frac{\rho^3}{x} (x d\rho)$$

$$\rho = \ln x$$

$$\frac{d\rho}{dx} = \frac{1}{x}$$

$$d\rho = \frac{1}{x} dx$$

$$x d\rho = dx$$

$$= \frac{1}{4} (\ln x)^4 + C$$

#3)
$$\int x^{2} \ln(2x) dx$$

$$\frac{dy}{dx} = \frac{3}{2x} \qquad dy = \int x^{2} dx$$

$$dy = \int x^{2} dx$$

$$y = \frac{1}{3}x^{3}$$

$$Sudy = uy - \int y dy$$

$$= \ln(2x) \cdot \frac{1}{3}x^{3} - \int \frac{1}{3}x^{3} \frac{1}{x} dx$$

$$= \frac{1}{3}x^{3} \ln(2x) - \frac{1}{3}\int x^{3} dx$$

$$= \frac{1}{3}x^{3} \ln(2x) - \frac{1}{4}x^{3} + C$$

#4)
$$\int \frac{e^{x}}{e^{x+4}} dx = \int \frac{e^{x}}{P} \left(\frac{dP}{e^{x}} \right)$$

$$= \int \frac{dP}{P} dP$$

$$= \ln |P| + C$$

$$= \ln |e^{x} + 4| + C$$

$$= \frac{dP}{e^{x}} = dx$$

Evaluate each definite integral using integration by parts. Exact answers only.

 $\int_0^2 x e^x dx$

$$u = x \qquad dv = e^{x} dx$$

$$du = dx \qquad v = e^{x}$$

$$Sudv = uv - Svdu$$

$$Sxe^{x}dx = xe^{x} - Se^{x}dx$$

$$= xe^{x} - e^{x} + C$$

$$Sxe^{x}dx = \left[xe^{x} - e^{x}\right]_{0}^{2}$$

$$= \left[2e^{2} - e^{2}\right] - \left[0e^{0} - e^{0}\right]$$

$$= \left[e^{2}\right] - \left[0 - 1\right]$$

#6)
$$\int_{1}^{3} x^{2} \ln x \, dx$$

$$U = \ln x \qquad dv = x^{3} dx$$

$$du = \frac{1}{2} dx \qquad v = \frac{1}{3} x^{3}$$

$$\int u \, dv = u v - \int v \, du$$

$$\int \ln x \left(x^{2} dx\right) = \ln x \left(\frac{1}{3} x^{3}\right) - \int \frac{1}{3} x^{3} \left(\frac{1}{2} dx\right)$$

$$= \frac{1}{3} x^{3} \ln x - \frac{1}{9} x^{3} + C$$

= e³ + 1

$$\frac{3}{3} \times^{2} \ln x \, dx = \left(\frac{1}{3} \times^{3} \ln x - \frac{1}{4} \times^{3}\right)^{3}$$

$$= \left[\frac{1}{3}(3)^{3} \ln(3) - \frac{1}{4}(3)^{3}\right] - \left[\frac{1}{3}(1)^{3} \ln(1) - \frac{1}{4}(1)^{3}\right]$$

$$= \left[\frac{1}{3}(3)^{3} \ln(3) - \frac{1}{4}(3)^{3}\right] - \left[\frac{1}{3}(1)(6) - \frac{1}{4}(1)\right]$$

$$= \left[\frac{1}{3}(3)^{3} \ln(3) - \frac{1}{4}(3)^{3}\right] - \left[0 - \frac{1}{4}\right]$$

$$= \left[\frac{1}{3}(3)^{3} \ln(3) - \frac{1}{4}(3)^{3}\right] - \left[0 - \frac{1}{4}\right]$$

$$= \left[\frac{1}{3}(3)^{3} \ln(3) - \frac{1}{4}(3)^{3}\right] - \left[0 - \frac{1}{4}\right]$$

$$= \left[\frac{1}{3}(3)^{3} \ln(3) - \frac{1}{4}(3)^{3}\right] - \left[0 - \frac{1}{4}\right]$$

$$= \left[\frac{1}{3}(3)^{3} \ln(3) - \frac{1}{4}(3)^{3}\right] - \left[0 - \frac{1}{4}\right]$$

$$= \left[\frac{1}{3}(3)^{3} \ln(3) - \frac{1}{4}(3)^{3}\right] - \left[0 - \frac{1}{4}\right]$$

$$= \left[\frac{1}{3}(3)^{3} \ln(3) - \frac{1}{4}(3)^{3}\right] - \left[0 - \frac{1}{4}\right]$$

Advanced Integration 10.1C – Integration by Parts

#7)
$$\int_{0}^{2} x(x-2)^{4} dx$$

$$\int u dv = u v - \int v du$$

$$\int x(x-2)^{4} dx = x \left(\frac{1}{5}(x-2)^{5}\right) - \int \frac{1}{5}(x-2)^{5} dx$$

$$= \frac{1}{5} x (x-2)^{5} - \frac{1}{5} \int \rho^{5} dx$$

$$= \frac{1}{5} x (x-2)^{5} - \frac{1}{30} \rho^{6} + C$$

$$= \frac{1}{5} x (x-2)^{5} - \frac{1}{30} (x-2)^{6} + C$$

$$= \frac{1}{5} x (x-2)^{5} - \frac{1}{30} (x-2)^{6} + C$$

$$= \frac{1}{5} x (x-2)^{5} - \frac{1}{30} (x-2)^{6} + C$$

$$= \frac{1}{5} x (x-2)^{5} - \frac{1}{30} (x-2)^{6} + C$$

$$= \frac{1}{5} (x-2)^{5} - \frac{1}{30} (x-2)^{6} - \frac{1}{30} (x-2)^{6}$$

#8)
$$\int_{0}^{\ln 4} x e^{x} dx$$

From problem #5

 $\int x e^{x} dx = x e^{x} - e^{x} + C$

Ind
 $\int x e^{x} dx = \left[x e^{x} - e^{x} \right]_{0}^{\ln 4}$
 $= \left[\left(|n |^{1} |^{1} + e^{\ln 4} \right) - \left[0 |^{2} - e^{0} \right] \right]$
 $= \left[4|n |^{4} - 4 \right] - \left[-1 \right]$
 $= 4|n |^{4} - 3$

Find each integral by repeating integration by parts.

#9)
$$\int x^2 e^{-x} dx$$

Sudv = $uv - \int v du$

$$\int x^2 e^{-x} dx = e^{-x} dx$$

$$\int x^2 e^{-x} dv = x^2 \left(-e^{-x}\right) - \int -e^{-x} \left(2x dx\right)$$

$$= -x^2 e^{-x} + 2\int x e^{-x} dx$$

$$= -x^2 e^{-x} + 2\int x e^{-x} dx$$

$$= -x^2 e^{-x} + 2\int x e^{-x} dx$$

$$= -x^2 e^{-x} + 2\int x \left(-e^{-x}\right) - \int -e^{-x} dx$$

$$= -x^2 e^{-x} + 2\int x \left(-e^{-x}\right) - \int -e^{-x} dx$$

= -xex - 2xex - 2ex+C

$$u = x^{2} \quad dv = e^{-x} dx$$

$$du = 2xdx \quad v = -e^{-x}$$

$$u = x \quad dv = e^{-x} dx$$

#1)
$$\frac{1}{2}e^{x^2} + c$$
 (sub)
#2) $\frac{1}{4}(\ln x)^4 + c$ (sub)
#3) $\frac{1}{4}e^{x^3}\ln(2x) - \frac{1}{4}e^{x^3} + c$

#3)
$$\frac{1}{3}x^3 \ln(2x) - \frac{1}{9}x^3 + c$$
 (by parts)
#4) $\ln(e^x + 4) + c$ (sub)

#5)
$$e^2 + 1$$

#6)
$$9 \ln 3 - \frac{26}{9}$$

$$#7) \frac{32}{15}$$

$$+8$$
) $-3 + 4 \ln 4$

#9)
$$-x^2e^{-x} - 2xe^{-x} - 2e^{-x} + c$$